Marking instructions

AO

Marks

Typical solution

18(a)

Calculates 1.78 + 2 x 0.23 or
1.78 +£1.96 x 0.23
or
calculates P(1.33 <x <2.22)
Pl by 0.9469 or 0.947
or

1.33-1.78

2.22-178
calculates and
0.23 0.23

3.1b

M1

Obtains 1.32 and 2.24 and
states they are approximately
1.33 and 2.22

or

obtains 1.33 and 2.23 and
states they are approximately
1.33 and 2.22

or

obtains 0.9469 or 0.947 and
states is approximately 0.85
or

obtains -1.96 and 1.91 and
states are approximately -2 and
2

2.4

A1

Infers that the normal
distribution may be suitable
because height is continuous
data and 95% of heights lies
within two standard deviations of
the mean

or

Infers that the normal
distribution may be suitable
because height is continuous
data and 94.69% or 94.7% of
heights lies between 1.33 and
222

2.2b

R1

1.78 -2x0.23=1.32
1.78+2x0.23 =224

1.32=1.33
224=222

Height is continuous data and 95%
of heights lies within two standard
deviations of the mean so normal
may be a suitable model.

Subtotal










